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Question Number : 2 Question Id : 4509386082 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

Table I Table IT

I | Diatoms | A | Early blight

II | Sporozoan | B | Bioluminescence

Plasmodium

!

111 | Noctiluca

IV | Alternaria | D | Auxospores
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I-D In-c III-B IV-A
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Question Number : 3 Question Id : 4509386083 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose correct pair from the following

I | Joseph priestly pure gas by green plants

I | Krishi parasaram | medicinal plants

I | C. G. K Ramanujan | Palynology

IV | Sumner carbon assimilation
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Question Number : 4 Question Id : 4509386084 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Funaria the spores are dispersed with this
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Time:0



Identify A. B. C plants m a series based on these characters of roots
A. Roots at lower nodes of stem
B. Roots absorb water and food from host plant

C. Root forming nodules
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Options :

Vanda. Viscum. Cuscuta
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Avicinnea. Striga. Pisum
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Sugarcane. Rafflesia. Groundnut
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Question Number : 6 Question Id : 4509386086 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Plants which perform photosynthesis by these parts
a) Ribbon like roots
b) Fleshy cylindrical stem
¢) Needle like stem

d) Flattened stem
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Taeniophyilum, Opuntia, Oxalis, Dioscorea
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EIDAD® DO, 57T a.00A" Balrd) Save
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Casuarina, Euphorbia, Taeniophvllum, Opuntia
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Question Number : 7 Question Id : 4509386087 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the incorrect statement regarding tyvpe of reproduction in plants

S0E,0S 16056518 5573 26 DS 55D e Fedssn
Options:

Clones are Plants produced vegetatively and asexually

5D ST 9B0ohE SHBCW 3805 DTN0S DEIT S0ELen

Spores produced on specialized sporangiophores are conidia
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Gemimna are specialized structures of reproduction via asexual reproduction
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Asexual spores of Chlamvdomonas are motile
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion [A] : Fungal zygote develops a thick wall that is resistant to dessication and damage
Reason [R]  : Formation of diploid zygote 1s universal in all sexually reproducing organisms and

its development depends on the type of life cycles
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Options :

A and R are correct. R 1s the correct explanation of A

A 5805 R SBTDE. R @030 A $50 HBTDS D3

A and R are correct. R 1s not the correct explanation of A

A DB R HOTA. R @3B A $%) HBTDS D38 595
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A 1s correct but R is incorrect

A HOTDSO S R HOTDNIE 5°¢

A 1s mcorrect but R 1s correct

A HBTPSE 59 52 R DOTSE
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Time:0
The plants showing: Perigynous flower. carperl arranged obliquely at 45°, and protogynous flowers
are
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Dolichos, Cicer. Phaseolus
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Crotalaria, Nicotiana, Datira
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Pisum, Capsicum, Solanuimn
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Datura, Petunia, Withania
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Question Number : 10 Question Id : 4509386090 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure processing microfilaments and microtubules and its function in a cell
0068 S8R S0den B0 18 TP Sofd sored 08 ol
Q07E0 oGO %) A6



Options :

Eukaryotic cytoskeleton — Signalling across the cell
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Centrosome — Cell division
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Prokarvotic cytoskeleton — cell motility
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Axoneme — Intra cellular transport

. @8 D — SeTr0eddes S
a,

Question Number : 11 Question Id : 4509386091 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Hydrolytic enzymes are present in lysosomes

Reason (R): Catabolism of fatty acids occur in Lysosomes

QB30 (A): BFFN) O 37 ESEIE JOBed ENOD
S0 (R): 157695 @670 DD 1805 BIFFD o 8N

Options :

A and R are correct. R is the correct explanation of A

A HBAM R O8N R @D A 080 DBOD DadBED
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A and R are correct. R is not the correct explanation of A

A B0 R HOTDSD. R @930 A S50 HOTS D3 ¢
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A 1s correct but R is incorrect

A HBTPSE 5% R HOTDIE 59
3. %

A 15 incorrect but R 15 correct

A HBTDIE 595 5 R HOTDSE
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study and match the following lists

List-1 List-II
A | Lectin [ | Tyrosine
B | Neutral Amino acid | II | Protein
C | Aromatic Amino acid | IIT | Concanavalin-A
D | Collagen IV | Valine
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Time:0

Study the following table with reference to the meiocyte of Rice and find correct combination

S. No | Phase of Division Event Chromatid number
[ | AnaphaseI Separation of chromatids pL}
I | Prophasel Condensation of chromosomes 12
Il | Metaphase II Microtubules attached to kinetochore 12
IV | Anaphase II Division of centromere pLt
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Question Number : 14 Question Id : 4509386094 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Intrafasicular cambium and mterfasicular cambium are present in these places
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Options :

Between primary xylem and primary phloem respectively
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Primary xylem and primary phloem and in between primary vascular bundles
respectively
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Primary vascular bundles and below the pericycle respectively
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Below the hypodernus and above the pericycle respectively
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find the correct statements regarding the structure of xylem and phloem
. Xylem parenchyma store starch or fat or Tannins
.  Xylem parenchyma have highly thickened walls and obliterated central lumens
M. Companian cells are controlled by nucleus of sieve tubes

IV.  Phloem parenchyma is absent in most of the monocots
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the below incorrect statements related to internal organization of plants
[ Stomata regulates the process of photosynthesis and gaseous exchange
. In bicollateral vascular bundles xylem and phloem and situated at the same radivs of
vascular bundles

III.  Monocot root has more xylem bundles compared to Dicot root
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Question Number : 17 Question Id : 4509386097 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct statement
I Continuous decline in pollinator activity could mean rising of fruits and seeds production
II.  Conversion of wild lands for domestic use is the cause of disruption of pollinators

M. Submerged macrophytes enrich the dissolved oxygen in water
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Question Number : 18 Question Id : 4509386098 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Assertion [A] ; The gradual and predictable change in the species composition of a given area is
called ecological succession

Reason [R]  : Biotic community is slow and undergo changes with the passage of time
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Options :

A and R are correct. R 1s the correct explanation of A

A S80I R HOTDXD. R 69030 A S8 HOTS DS
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A and R are correct. R 1s not the correct explanation of A

A SHB05 R HOTDAD. R DO A S SOTS D580 595

A 1s correct but R 1s incorrect

A HOTDSO A R HOTPIE ¢
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A 1s mcorrect but R 1s correct

A HOTDSO S T R HOTHID

Question Number : 19 Question Id : 4509386099 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A B

From the diagram answer the following
A. Cell shows less ¥,
B. Cell shows less W
C. Solution shows more W
DEIXN 0D, (B0O 37¢38 SAFTTH0 Qo) §od
A. 5020 W, T 560
B. 6650700 W 3% 5620

C. D80} Ws LI (T°9€20
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Question Number : 20 Question Id : 4509386100 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Find incorrect statements related to water relations in plants,
A. Water potential difference is drawing force for osmosis
B. Druiving force of diffusion is concentration gradient
C. Pressure potential is negative

o
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Question Number : 21 Question Id : 4509386101 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A:Fe BikK S 1 B:S
These elements are important for proteins in the following activities
I. Major constituent of proteins
II. Stabilizing the protein structure
ITI. Important constifuent of certain proteins
IV. Involved in protein synthesis
A :Fe B:K Gl D:5
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L 1938 © Swws ©odo
I (638 © QuUrpeae§ eh co
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Options :
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Question Number : 22 Question Id : 4509386102 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Influx of 1ons into mner space of cells is an active process

Reason (R): Tons are available for free exchange in free space

DB (A): 4670 )0 (NBFOH 0T walrd © LodTdTiro 2.8 HEor
NIaL)
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Options :

A and R are correct. R is the correct explanation of A

A OB R HOTDED. R @B A S5 SOTDS D369
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A and R are correct. R 1s not the correct explanation of A

A N0 R AB8SDAD. R 9c0IE A )80 83D a8 5°CD
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A 1s correct but R 1s mcorrect

A SBTDSE 5% R HOTDSE 5°¢H

A 15 mcorrect but R 1s correct

A SBTSE 575 5 R HOTZSE
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Time:0



Match the following

List-I List-IT
A | Peroxidase I | Coenzyme
B | NAD" II | Apoenzyme + metal 1on
C | Carboxypeptidase IIT | Apoenzyme + coenzyme
D | Malate dehydrogenase | IV | Apoenzyme + prosthetic group
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Options :
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Time:0



The ratio of no. of electrons to be excited from PS II during non cyclic photo phosphorylation and
PS T during cyclic phosphorylation respectively to form 120 ATPs

120 ATP 8 8)85t50350 @5(505 dO|FS Sarere PS T sBoi 1§05 JO|FR

BarereS PS I HOG G820 T JO[TH © 03 A )
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Question Number : 25 Question Id : 4509386105 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Give the ratios between the following compounds m photosynthesis of plants
A Tetroses and sedoheptoloses
B. CO; fixed and net production of G-3-P
C. DHAP takes part in regenerative phase and RUBP formed

80 §daads Hodrd 1§0h S 1808 HTTOH J020H0DS AAIROD
B So
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A-5:1 B-3:1 C=23

1.+

A-3:2 B-1:2 C-3:4
2. &

A-1:5 B—1:3 C—3:2
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A-2:4 B-—3:4 C-3:2
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Question Number : 26 Question Id : 4509386106 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Arrange the following respiratory substates i increasing order based on ATPs they give on

complete oxidation in three stages of aerobic respiration

I G-3-P

II: PGA

IIT; Acetyl COA

IV: aKGA

TO5 557 80D SR Srch IS S0 es§)508 26/ 5 ch ATP ©

e80T, & (800 FeIE0Sr Y HTTO DOT 500 B8

I G-3-P

II. PGA

I QOO COA

IV: ekKGA

Options :

I B I, i
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Question Number : 27 Question Id : 4509386107 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Assertion (A): New cells are always bemng added to the plant body by the activity of the meristem.

Reason (R): The cells/tissues arising out of the same meristem have different structures at maturity

QBB (A): Varas Seaere) S0iraed S0 Fng) Terns Adosso 5t Seren
DS GOLTaN
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Options :
A and R are correct. R is the correct explanation of A

A HBA R AB8QDAD. R @A A 080 Q8N D58
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A and R are correct. R 1s not the correct explanation of A

A HB0M R H8AHAD. R @0 A 550 QB8N DadBed 5°CH
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A 15 correct but R 1s incorrect

A SBTDIE 5 R HOTDSA 5°¢0
3. %

A 1s incorrect but R 1s correct
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Question Number : 28 Question Id : 4509386108 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Rhodospirillum 1s not a photoheterotroph bacteria.

Reason (R): Photoheterotrophs obtain energy from light but carbon from organic souce.

D50 (A): 6E°R)006D 508 DO 2B 5.
5296900 (R): 5P083 DOSFAEFEN 52088 (D00 459, §3)0 urere) Hod
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Options :

A and R are correct. R 1s the correct explanation of A

A DB R Q8D R @cdE) A 350 OB8QD 088

A and R are correct. R is not the correct explanation of A

A DB R A8ADAD. R @cHAE A 380 Q8D DB 5°¢hH

A is correct but R 1s mncorrect

A DBTHXE 5 R HOTSE 5°¢0



A 15 incorrect but R 1s correct

A DBTDSA 575 5% R HOTSE
4,

Question Number : 29 Question Id : 4509386109 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In TMV, serially the Length. diameter, molecular weight. and capsomers number are

TMV S0E) 8PC8a), aF5ede), ©E02PB0, OO S8 ) AaHD ) 0D ST
Options :

100nm: 4 nm: 39x10° daltons: 158

300nm: 18 nm: 39x10° daltons: 2130
2.9
- 300nm: 18 nm: 39x10° daltons: 2310
4 18nm: 4nm: 9x10° daltons: 2310

Question Number : 30 Question Id : 4509386110 Display Question Number : Yes Is Question
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Time:0



Match the following

List1 ListII
A | Change in a single base I | Frame shift mutation
B | Deletion of base pairs of DNA I | Mutagen
C | Cancer cells [l | Pomt mutation
D | UV radiation IV | Chromosomal aberrations
508 5350 26 KT
D81 AT
A |28 26 TU°0 SPMH) I |20 29 e )05Gen
B |DNASQASTO 26 Eofoy) | I | &858 280
C | 52510 Sepen I | Doch e )3:587ren
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Options :
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A-I B-III C-IV D-II

Question Number : 31 Question Id : 4509386111 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Morgan’s linkage experiments on Drosophila recombinants percentage for white eve and yellow
body 1s
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Question Number : 32 Question Id : 4509386112 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Removal of mntrons and joining of exons in defined order is called

01670 BOR0IDA IS ) €0 SN 006 Eendachtrd) aer @otrd

Options :

Capping

| & 500N

Tailing

Tryondoh
2. %



Spliecing

D000
3.4

Blending

20400
4, %

Question Number : 33 Question Id : 4509386113 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

For efficient translation process. mRNA must have these

090 |DEODH DTS00 2EKErdE mRNA J¢39 $O° &owd)
Options :

Small unit. Amino Acids. Release factor

D) GNDATEI0, IS €3o7°eN), DO SPBEO

Start codon, Stop codon. Codes for polypeptide, UTR

©38025 H0BH0, 0D 0TS0, FO VPG 8T8 0SS0, UTR
2.

Promoter. Operator. Repressor

1030, e300, Bloard

Small unit. Large unit. Promoter

DY) EI TR0, DR 5| DITR0, (DD



Question Number : 34 Question Id : 4509386114 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify A. B and C in the diagram of P2 (

PER2 Y05 A, B SO0 € 6 (HG0t504 (A, B SHOGKM € BYE S Taioren)

A. B and C are restriction sites)

Clal

EcoR I

PVUI

Sall

Options :
A B C
BamH I Hind IIT Pst 11
1. %
A B C
BamH1I Hind III Pst 1
2.
A B C
Hind ITI BamH1I PstIT
3. %
A B C
Pstl PVUII BamH 1



Question Number : 35 Question Id : 4509386115 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

While isolating DNA from bacteria the following enzyme is not used.

DNA & 2605 00 SHToR (£:006 D ISBD & DABPAOTIED
Options :

Lysozyme

SHFES

Ribonuclease

JSFARNUIESTEIIR

Deoxyribonuclease

B3e38 B S s Saho

Protease

P33

Question Number : 36 Question Id : 4509386116 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Process of technique of detecting HIV in suspected AIDS patients

EDSTTNE AIDS BHS HIV Q HO0T arosegs 1H180%

Options:



ELISA

ELISA
DNA finger printing
DNA 3:50(¢5
2. % )
r-DNA technology
., DNA arOSesseh
Polymerase Chain Reaction
|, TONTD BSBaES

Question Number : 37 Question Id : 4509386117 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Table I Table I

ELISA |1 | Altered gene

GEAC | III | Gene expression prevention

A
B |RNAi1 |II | Safety of GM organisims
C
D

GMO IV | Antibody linked to enzyme

1808 FE3R 263G THAW

ST P8I
A | ELISA I | 235706

B | RNAS588080 | IT | GM 2e9e0 08 856

C | GEAC I | 2365086955856 Davdien
D |GMO IV| 263858 50 0B 50 ©03
Options:
A-TII B-II C-IV D-1
1.%
A-IV B - III C-1I D-1I
2. %
A-TI B - III C-1I D-IV
3. %
A-TV B-1II C -1 D-1I
4. %

Question Number : 38 Question Id : 4509386118 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

A | lablab I | f-carotene
B | Golden Rice | IT | Enriched protein
C | Pumpkin III | Vitamin C
D | Bitter gourd | IV | Vitanun A
265330
AlerdS-er | I |B-3563S
B | 20 &6 | I | s &) 19938
Clmdnd || dedsc
D | 588 IV | &b A
Options :
A-TI B-1V C-1II D-1I
1. %
A-TV B -1II C-II D-I
2. %
A-1III B-IV C-1II D-I
3. %
A-TI B-1I Cc-1v D - II1
4. &

Question Number : 39 Question Id : 4509386119 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose correct pairs from the following

I | Glomus Mycorrhiza

II | Blue green algae | Don't added organic matter to soil

1T | Azospirillum Symbiotic organism

IV | Oscillatoria Fix atmospheric nitrogen

1506 Q) 0D BADA) BHORD e T

I | 0508 3O01¢ Sreren
I | O 2Oeb Foderen | §8)c Erares Fod @0l
I | @25°%)60D DTS

IV | @ &56a1r TG BB TS

Options :

IL, IV

1. %

Question Number : 40 Question Id : 4509386120 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A): Bacillo viruses attack msects and arthropods

Reason (R): They have no negative impact on non target msects
DT (A): 27503 3D o 8P 0 A Traw
5'0Eas30 (R): B9 BHS ©F 50 TR SE5°0) e DENSOE )30 92730 LBy

Options :

A and R are Correct and R 1s the Correct explanation of A

A OB R HOTDED. R @0 ASE S8 DS

1. %

A and R are Correct and R 1s not the Correct explanation of A

A HBAM R O8N, R @ AS50 O8O0 D386 5°¢H
2. ¢

A 15 Correct but R 1s incorrect

A SBTDIE oNB R HOTDSE 5°¢

A 1s incorrect but R 1s correct

A DB 5°¢H ©ONS R DB

4, %
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Maximum Instruction Time: 0
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Question Number : 41 Question Id : 4509386121 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Microanatomy is the study of
A58 3 90688 DU B RO OV E3 ©9550080

Options :

Internal arrangement of ditferent organs

5570 SR @053 €9:50aed e9¢5aDS0

1. %
Tissues in organs of the body
. B30 3065 €950057e2¢5' Q) Eeaazreren
Different body functions and processes
B0 S DD e950Ha7e (805 Do
3. %
Formation and development of embryvos
£ LAY -8 £ o o a
. DOTTDYR S DOTTEN DB JCEEI0. a°¢3 92D

Question Number : 42 Question Id : 4509386122 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



“Increased diversity contributed to higher productivity”. It was stated by

290 G508 30T DONHAL ©OF GarIGESE BaPes HBH0G BONS
)

Options :
Paul Ehrlich
O D
1. %

Alexander Von Humboldt
SBT0RD T& FoSD

2. %
Tilman
ASIIN]
3. v
Edward Wilson
DCH 0 Dy
4. %

Question Number : 43 Question Id : 4509386123 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Kidneys of vertebrates are retroperitoneal organs.

Reason (R): They are covered by the visceral peritoneum only on their ventral side.

DBB0 (A) : HEFHTO SP(SHOTEN B Faed @HAHTE
SGE0 (R) : 092 G658 2P0 ST @oBToN Fado T 860526 GoLrow

Options :

1. %



A and R are true. R is correct explanation for A

A DB R A20. A8 R OB Dadtiea

A and R are true. But R is not correct explanation for A

ANBON R AZ0. SR A SR OB a)adOea 57D

2. %

A 1s true. But R 1s false

A R2B0. 550 R 020 5°¢0
3.

A 15 false. But R 1s true
) w A D0 5CY. S5O R R0

Question Number : 44 Question Id : 4509386124 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Function of oligodendrocytes is

O EOIB D B80T 6.
Options :

Formation of blood-bramn barrier

380-A @B DEIBEDEO

Formation of myelin sheath

y DONOD ST IS0 NGB0
2. ¢



Formation of neurilemma

0”50 T5°26 DB YBTHEI0

3. % N

Phagocytosis

4% S§e0258 €2

Question Number : 45 Question Id : 4509386125 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

Types of bones Examples
A | Cartilage bones | I | Cranial bones
B | Inverting bones | II | Os cordis
C | Sesamoid bones | ITI | Forelimb bones
D | Visceral bones | IV | Pisiform bone

V | Pinna
1508 3R 2538508
DS 57N GO

Al Stherd ddwien [T |53r00e5 R dadngen

B | T3 )0 en I | e 500

C | RASToNE Dddngen | I | ro° 500 alnden

D | @0650°01 o8 | IV | 3 D 2l e

V [ 3285)

Options :



A-III B-I C-V D-II

1. %

A-II B-IV C-I D-III
2. #®

A-ITT B-I C-IV D-II
3. %

A-TIT B-IV C-1 D-II
4. %

Question Number : 46 Question Id : 4509386126 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

One of the following exhibits moulting

180D ¢3S DB BSDD DB J0THIE
Options :
Tapeworm

25T S

1. %

Palaemon

AN

Hydra

2



Sponges

QO35 EN
4, #

Question Number : 47 Question Id : 4509386127 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

Class Larval form
A | Porifera I | Planula
B | Cnidaria II | Trochophore
C | Annelida ITI | Auricularia
D | Echinodermata | IV | Parenchymula

1506 3 25805

)27 Ho0dd 02380
Al 8T I | e
B | Q@S T | (€5°6°95
C | o3 III | 385058005

D | 335688 | IV | ardoBner

Options :

A —III, B-IVv C-1 D-I1

A - TIT, B-1 C-IV D-II

A1V, B-1 C-III D-1II



A-TIV, B-1 C-II D-III

Question Number : 48 Question Id : 4509386128 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Notochord persists through out the life in

DINS50F50 DE3S BREP0HW HOEVOE

Options:

P{E‘ff'ﬂﬂ‘lj‘__ﬂi?

1.+
Fish
)
2_ W
Frog
SPON
3_ W
Latimeria
ereS DA
4. ®

Question Number : 49 Question Id : 4509386129 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
One of the following 1s an egg laying mammal

1806 ¢3S o e 058 S B0

Options:

Macropus

Balaenoptera

OO

Panthera tigris

OB BAR
3. % .

Ornithorhvnchus

e38) BB0ED
4. =

Question Number : 50 Question Id : 4509386130 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

This type of flagellum is present in Astasia

SVAATPS & S5 877850 S0EN0D

Options :

Acronematic

|5’ Q5°¢35

1. %



Pantonematic

TS D3°¢38
2.
Stichonematic
DEVSe3E
3.
Anematic
R ot By o 5
4. %

Question Number : 51 Question Id : 4509386131 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2

Syngamy |I | Fussion of similar gamates

Isogamy | II | Fussion of dissimilar gamates

A
B
C | Amsogamy | IIT | Fussion of two mature organisms
D

Hologamy | IV | Fussion of two gamates

808 3R 253850k
SOX-1 3692
A H0oins Qoo [T |28 A Dzdere Soows

B | Qad 20030 I | & arcdydso B Dasere

Soons

C | o0 | | D836 ToH Bod 2ye> Oon

D | FS TN IV | Boch Dadare oot

Options :

A—TI. B-II C-IV D-1

A—1V, B—-1I C-II1 D-=1I

A-1V, B-1 C-II D-II

A—1II B-1IV C-1 D-Il

Question Number : 52 Question Id : 4509386132 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The following is a cytozoic parasite
B0 578365 Eear0ehd DTS 22

Options :

Plasmodinum vivax

I H3AV0 JI°8))
1.¢

Wuchereria brancrofti

, $38alr (2ro|57y
Ascaris lumbricoides
&%) B eUr0[)5TANEN
3. %
Entamoeba histolyvtica
, 0O FEESET5

Question Number : 53 Question Id : 4509386133 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Heroin 1s the most potent and highly addictive diug

Reason (R): Heroin is obtained by acetylation of morphine

Q650 (A): TPT°ONR &eH306h 29279 OB Red sV T Yed

SGE0 (R): 63070300 o RBIBA DONCO 3O TFTONM IS IR0

Options:

1.



A and R are true. R 1s correct explanation to A

A NS0 R BOCA Q€5500, R, A § QT o6

%
Both A and R are true. R 1s not correct explanation to A
A 0O R DO O85a00, R, A 50 OB adoadded 5°¢H
2. ¢
A 15 true but R 15 false
A 58000, R 9006580500
3. %
Both A and R are false
A B R BOCH @965 530
4. %

Question Number : 54 Question Id : 4509386134 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Lymphangitis |I | Inflammation m lymph glands
B | Lymphadenitis | II | Entamoeba
C | Hypnozoites 1T | Inflammation in Ivmph vessels
D | Liver abscesses | IV | Ascaris
V | Plasmodium
1508 E3Q) 280808
238ed-1 02
Al Qoro B&D I [ 87288 110hod o)
B | orzo I | Dod)ader
C | rofyerond en |II | $£285 oremedS &9
D | 80005 Hod | IV | &80
V | 9808000
Options :
A-III B-I C-V D-II
1. ¢
A-III B-I C-IV D-II
2 %
A-T B-IIT C-I1 D-V
3, #
A-II B-V C-I D-III

4. %




Question Number : 55 Question Id : 4509386135 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): The spiracles of cockroach are holopneustic type,

Reason (R): All spiracles are functional
DRB0 (A): SQ0ES FsdE0GTeN S drsas 8o
5°¢5£20 (R): SQ0EES 35 0G0(roR) 1805eh 80

Options :

A and R are true. R is correct explanation for A

A NSO R A20.ASR AT edded
1.

A and R are true. But R is not correct explanation for A

ANBAM R AAR0. 55 A SR AT aaddea 59

2. %
A 1s true. But R 1s false
. A Q230. 5% R Q230 5°CD
3.
A is false. But R is true
4w A D220 5°CN. S5O R Q220

Question Number : 56 Question Id : 4509386136 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In mouth parts of cockroach. protopodite 1s made up of

SO0 S0 2rTrexeS (5350 FFOH0 DS B0



Options :

Cardo and stipes

520 BN PHD

(Galea and lacinia

BT B0 BoasT

2. %

Glossae and paraglossae

P2 B0 oD
3.%

Glossae and ligula

02 D8 Obses
4, ®

Question Number : 57 Question Id : 4509386137 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Fishes that exhibit anadromous migration are

9T (350D SO (DEHBJ0T THEW
Options :

Anguilla and Petromyzon

E30A.,CT7 0B ET T



Anguilla and Neoceratodus

&30 fCT DA DAVDSETED

Protopterus and Myxine

(DA 5600 D)
3.

Salmon and Hilsa

, AP0 oNB O aTrer)
4. ¢

Question Number : 58 Question Id : 4509386138 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Certain mass of living material at a particular time at each trophic level is called

2.5 D0 500 8 PFAE NS €5e5) AQeh BoSHT (655077

L

Options :
Entropy
1 QOES D

Standing crop
POGB0N 5%
2.¥

Enthalpy

c":;o.::j“rf‘f) 3
3. %



r - value

a6 1%

Question Number : 59 Question Id : 4509386139 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Lakes that show overturns twice a year are called

D056 1078 BOCHTRD A TBSTETDE DG JeN
Options :

Monomictic lakes

S DEE3E HSD yen
Dimictic lakes
BIEESE S8 3en
2.9
Eutrophic lakes
- O3 DB Jew
Profundal lakes
SPHOGO SBjen
4. %

Question Number : 60 Question Id : 4509386140 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In humans, the teeth that appear very late, usually at the age of 21 years are

ST GOTOS TTer SONSOM, PEPELOM 21 0581070 SEHDES $T)0)
Options:

Third molar teeth

v o)T*CH0) TOO FEATPEN

Second premolar teeth

DOCH0 @] L0 seasen

First molar teeth

JNEAE3 G geaseen

First premolar teeth

i 20E5E3 eo(if TG seaseen
4,

Question Number : 61 Question Id : 4509386141 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



These factors are favourable for the formation of oxyhaemoglobin
I. High pCO2

II. HighpO:

III. Lesser H concentration and lower temperature

IV. Higher H™ concentration and higher temperature

800 TS 88 )erIPNDS D85)EETIE ©DETErOTONT HR TR
I @58 pCo;

I @08 ph

I H' €90 ) Pehed DB e90))) 6ll((fed

IV. H" 968 mrched OO 98 sk’ | ¢

Options :

II and IIT
I 8 I

Iand IV
1080 IV

IIT and IV
I 8o IV

I and IIT

Io00ai I
4, %

Question Number : 62 Question Id : 4509386142 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
During blood clotting. in extrinsic pathway. thromboplastin activates

B8 530658 1809 23er s HB0S [0S TR HIR &SRB TR0
Options :

Proconvertin

Ee IO

Proaccelerin

ESERISTeTS)

Hageman's factor

=725 00 5580

Prower factor

1856 52880

Question Number : 63 Question Id : 4509386143 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A): Urine is hypertonic in the descending limb of loop of Henle. while urine is hypotonic
i the ascending limb.
Reason (R): Ascending limb 1s impermeable to Na™, where as descending limb 15 impermeable to

water
DIIBO (A): T3 3¢ 30T TOES O (555 mehed (00T TTHDERE e,
88> S TR Meieh (S0 3RS medd Srderon
58600 R): ©8er 98 FBaHo @aFIB) T EOR 0B, BT
T8 A8 P50 EOR GO

Options :

A and R are true. R is correct explanation for A

AsHBCN R A20.ASR QD a0

1. %
A and R are true. But R 1s not correct explanation for A
A NS R A20. %A SR QDA a)eddea 590
2. %
A 1s true. But R is false
. A Q0. 5% R Q20 5°¢H
3.

A 1s false. But R is frue

A QD220 5°CN. 50 R 230

Question Number : 64 Question Id : 4509386144 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify triangular bones among the following
A, Vomer
B. Coccyx
C. Scapula
D. Hyoid
E. Palatine
1806 a¢3eS (83292375755 DwEerd thBothod
A 2B
B. d) |80
C. @00 50
D. 57088 Jans
E. &£

Options :

A B.C

Question Number : 65 Question Id : 4509386145 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following in sequence the events of mechanism of vision

A | Changes in membrane D | Light rays focused on retina

permeability

B | Analysis of nevral impulses | E | Generated impulses are transmitted to visual

cortex of brain

Dissociation of retinal from

=3

opsin

Son 9130 5 020600 1506 R 3T HE S0 @sd o

A | ébetd rBifelzed & Srehyen | D | 508 8deren T o0 s
50|0860% 2C4E0

B | 76 DS GRre DEne E | 36 DS Gren DERS D Gaal
$0300 DHE

C | 89)S 508 BT
TR0

Options :

D —A—E—BHC

C -A—D— B—E
2. %

D —-(C—A— E—B
3. ¢

D —-A—C— B—E
4. %

Question Number : 66 Question Id : 4509386146 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Identify the correct statements regarding hormones.
[ Addisons disease is associated with glycosuria and formation of ketone bodies
II. Hydrocortisone and ghicagan stimulate gluconeogenesis.
III. Somatotropim and somatostatin released from hypothalamus are antagomstic hormones.
IV, Vasopressin s a peptide hormone,

T80 ©% 020500 3B @oTOD HEood
L JISRr808r ooy S5 Baren Dcﬁ;cﬁ&ao OBND) 56 @.jé_mm

I @méﬁﬁﬁ 0% ?SJ‘J&&?&S”@&%S@} TIFGerHR Hod S)tfm@c_ﬁ)g
DOHG 3BT F0) .
IV. AR DRk O,
Options :

I. III
1. %

I, IV

4l

M, IV
4.

Question Number : 67 Question Id : 4509386147 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Statement — [ : Epinephrine attaches to liver cell membrane receptors and activates adenylate
cyclase
Statement -1 : The cyelic — AMP activates phosphorylation and converts glycogen to glucose.

©9050-L AT (DO ST §aeh 30 Marsedy 2060026 BETSO 230

&892 HHN0B,
030 50D AMP TFRr)BBAS s Tebds Soedo TR T8RS & e
T PO,

Options :

Both the statements I and IT are true

@O L I Q20
1.

Both the statements I and IT are false

@Oz e I II 230 3D

2. %
Statement I 1s true. But II 1s false
@040 I 0230, 55 I 230 5°C%
3. %
Statement I 1s false. But II 1s true
. w 040 I 0230 D, 55 I 0230

Question Number : 68 Question Id : 4509386148 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the incorrect statements regarding immune system
[ Immunity developed by mdividual due to vaccimation is artificial passive acquired
HTIUDILy.
II. Interleukins are involved in differentiation of immune cells.
III. Large granular lymphocytes destroy infected cell in antibody dependent manner.

IV. Mature lymphocytes transform mto functional lymphocytes in Peyer’s patches.
806 365’ BHABEIE 5559 $0 9020600 S5 voFed HBood
I 5308 50 80 S BHABEES D)0 §yee 2 es0eh B1f TS
1L 208000589 &0 FHNTES Saren dBSS08 St e,
IIL Areyéed soined Do RED roEans Lo (D8 BaFe Froho & T30
DO,
IV. 086 Todd OoFRt) DHD) eSdeiod Bairss ogFaty m

PO,

Options:

I, IT
1.4

I1. IV
2. %

[.1I
3. %

I, IV
4, ®

Question Number : 69 Question Id : 4509386149 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Class-I MHC molecules are associated with

5*0-1 MHC (87630 €0 D8 90200601 €500,
Options:

Te — cells and Ty — cells

Tc = 8eg7e) o6 Ty — Segrew

All nucleated cells of the body and Tc cells

D05 BodEasned Searen, Te — Seen

All nucleated cells of the body and Tx cells

BroS ' @) So|cs¥cined Searew, Ty earen

Red blood cells and Tc cells
QS B8 Segren, Te — Segren

Question Number : 70 Question Id : 4509386150 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the mcorrect combination among the followimng

List-1 List-2 List-3
I | Hensen's node | Helps for involution of chorda Gastrulation
mesodermal cells
II | Epimere Somatic mesoderm Urinogenital organs
I | Cowper’s Located beneath the urinary bladder | Secretions provide nutrition for
glands sperms
IV | Mons pubis | Present above the labia majora Cushion of fatty tissue

808 P33 3R DYoo HBodod

20-1 200-2 2 0-3
[3P)R) | ada) 0% S50 500 Semen o) B
8E00) 90653 8000 OG0
I | D000 | &rsre35 schsn st ardS P BIROBAD
900N
I | 550 QP Ed000 1500 Gobran | [Jsen HISSET O
fochen VR EARTOTATIAA
IV | 50) Souad Ao erioS |20 (5 sdeere B
A GOENOE
Options :
I.1I
1. %
I IV
2.
I1. 111
3. ¢
I IV




Question Number : 71 Question Id : 4509386151 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Saheli is a

SorE) @D 2.8
Options:

Toxoid vaccine

erseyonG 350

Transgenic mice

205 065868 thoTdens

Anti — Cancer diug

5538 QBGE THS0

Non — Steroid oral contraceptive pill

RO B2ed (15) DBGE S¢S Seh

Question Number : 72 Question Id : 4509386152 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the incorrect pairs among the following.

A | Acrosin — digests corona radiata | C | Capacitation - changes in zona pellucida

B | Sertoli cells — inhibits FSH D | Ovulatory phase — LH surge

806 PE3S HTD 5 B8O Hhot0d

A JERR - 48 Bahers $8Aotso | C | 85880 -

ARV VA TSIV NN
B [ 200 deren- D | 0818 &% ~LHHO

SN SFE)S €t 18 AFOOIS0

Options :

Question Number : 73 Question Id : 4509386153 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identity the incorrect pair

DO 3¢5 O B 265 HBododk.

Options :



Klinefelter’s syndrome — 47, XXY

50 RO OGS — 47, XXY

Turner’s syndrome — 45, XY

£38)5 VOB — 45, XY

Down syndrome — 47 (+21% chromosome)

T VOG0 — 47 (121 (§T S 0)

3. %
Edward syndrome — 47 (+18™ chromosome)
D850 DOIE D — 47 (+18% (8 TrE')
4. %

Question Number : 74 Question Id : 4509386154 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If one parent has AB blood group and the other parent has A blood group (homozygous). these

blood groups are not expected in therr children.
2390 25506 2,808 AB 58 590, 205868 A 88 SG0ERD0M(M20) 0N, 78

006 & 58 STen 0.
Options :

B and O

A and AB



Aand B

B and AB

Question Number : 75 Question Id : 4509386155 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the incorrect pair

BT 2368 SR 7e30 H8odod.

Options :

XX — XO type — Grasshopper
XX — XO HOed — ched

1. %
Z7 — 70 type — Drosophila
, 2z-70 D — (BFDer
2.9
ZZ — ZW type — Birds
ZZ — ZW D3 — HEoen
3. %
XX — XY type — Human beings
y e XX-XY DAY — STSeHeN

Question Number : 76 Question Id : 4509386156 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Holandric genes are located in

SPeFO(ES oD Sahen) BBYES GOoLTom.
Options :

Somatic chromosomes

SISEA RN U ANWDY

X — CIH'UIIIGSDIHE
X garE s
2. %
Y — Chl‘ﬂlﬂi}."jﬂlﬂe
Y- 1553 & w0
3. %

Chromosome 21

21 & B RrE

Question Number : 77 Question Id : 4509386157 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The driving force of evolution is

2835 HOeTATD8 el 45

Options :

Reproductive 1solation

9

=

0B §ed e D58 eh

LI



Natural selection

1298e3 3520

Artificial selection

- Zl€3e% B0
Mutations
&4 )8 SOTren

4, %

Question Number : 78 Question Id : 4509386158 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Select the correct statement:

DB @07 HBododk:

Options:

Hardy-Weinberg law 1s applicable to small populations.

S3*0-Sond 20 QT7€H0 D)) BTSN D020H0DAE

1. %

Sewall Wright effect 1s applicable to large populations.

DT BE (D290 DA BT 2B D0OHODIE



Development of resistance to DDT by mosquitoes 1s an example for

directional selection.

DDT § &50e0 DBE 8 590 B0SI0 9T HFAsneh

DOETE GO0,

If one species diverges to become two or more species. if 1s called
anagenesis.

2,8 27763 TP ENTT DEBSFOD TOCH BE 0B0)d 2red e

D3 ICHEF) OTBAVN 0L,

Question Number : 79 Question Id : 4509386159 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The practice of mating of animals within the same breed. but having no common ancestor on either

side of the pedigree for 4 - 6 generations 1s known as

2,3 (5 § ToB, 4 - 6 STOIE & 508 S50 ahFyer &8 o s5en B

208090 635 D080 TOAOT DTWO
Options:

Out crossing
2P 5 000020
1.¢

Cross breeding

- D3 (0B



Close breeding

€9e3 AR ared (I23IN0

Line breeding

§ B D3550
4. -

Question Number : 80 Question Id : 4509386160 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In an ECG prolonged Q — T interval indicates
ECG ¢S Q- T ©90&350 DE0)s5 D) 03560 HA SrDN0E.

Options :

Bradycardia
125 Qs

1. %

Myvocardial infarction

BT ONO ARIDE R
2.¢
Tachycardia
¢38 sFHase
3. %
Hyperkalemia
TPHEOOT

4. %
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Question Number : 81 Question Id : 4509386161 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Force is given by the expression F = A cos(Bx) + C cos(Dt). where ‘v’ is displacement and ‘¢’ is
. . . D, i
time. The dimensions of 5 15 same as that of
2678 HaEB£0 F = Acos(Bx) + € cos(DE) T @ 50858, 2818 ‘¥ ©DHSO

Co M ¢ o D u i - oy, o W
25040 2HBA ¥ NG FO0. BN = DA Ao hédoen SOlNA

Options :

Velocity
Snfple)

1.4

Velocity gradient

s

S5 1DSe0et



Angular velocity

g*3a%H Jijo
3, %
Angular momentum
§°eHa% (€35 Stfo
4. '

Question Number : 82 Question Id : 4509386162 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The displacement ‘x’ of a particle moving in one direction is given by t = yx + 3. where ¢’ is in

metre and 1’ 15 in second. Its displacement when its velocity becomes zero 1s

2,8 B4 ONY) 2.8 880 T8y TI040 4, t =i + 3 T 23580, a8

v DD, HOOM ' DEDOS . OB & E0 JM0 DT WoNSID TR

2030

Options :
Im
1. %
2m
2. %
1m
3. %
Zero
I,



Question Number : 83 Question Id : 4509386163 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An aireraft executes a horizontal loop of radius 1 km with a speed of 900 kmph. Then. the ratio of

its centripetal acceleration to the acceleration due to gravity is

2,8 00 1 km ﬁ“ﬁ“@@ (0 S8 NP0 YT JH“QO@SS 0% 900 km
SK0S (AT, t0 @) T0(c & 35ePR8, (hHtheds & sBETS anehs Ao )e

Options :

6.38
1.9

3:19

Question Number : 84 Question Id : 4509386164 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A stone 15 projected at an angle of 30° to the horizontal. The ratio of kinetic energy at the point of

projection to the potential energy a the highest pomt of flight will be

8§82 J5roddoS 30° §00d 2.8 Ton TOS E 3 D0NAIE. D82 Hocde

S0 TR 113488 SHO0K TR SPF0ES 15 B G N 458 s A

Options :

1.



1:4

%

4:1
2. %

3:4
3 %

4:3
4. %

Question Number : 85 Question Id : 4509386165 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A body of mass 4 kg is moving with a velocity 6 ms™on a smooth surface. If it is brought to rest

n 4 s, the force applied is

1 kg 555078 0 500y deds) SO0 3 6ms IS0 & EHenehod. TR 4 D

506 AT VB8 BITIE FHORS 200
Options :

3N

3 % 8 N

g% *N



Question Number : 86 Question Id : 4509386166 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Find the least horizontal force P to start motion of any part of
the system of three blocks resting upon one another as shown A —»P
m the figure. The weights of blocks are A=300N,B = B
100N and C = 200 N. The coefficient of friction between A & it
B1s0.3. between B & C 15 0.2 and between C & ground 15 0.1 C

e

2008 Eras Ao 2w a8t Gotdadk

SIPCh B0 S5INS AT 7R, EBOITRE THORS 63 §8x Hrodd

DO0P 02 A, B. C OR300 27T DA 300N, 100N HEAMD 200N. A, B & (3,

B.C © adE3s S0B0I €, R0 a1E3s 086 Measren e 0.3, 0.2 B0 0.1
Options :

60 N
1.9

90 N

SON

TO0N

Question Number : 87 Question Id : 4509386167 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A truck of mass 1200 kg moves over an inclined plane raising 1 in 20, with a speed of 18 kmph.

The power of the engine is (g = 10 ms™2)

=

1 T b o
T =11 TLISO03) 1200kg © (595073 10 2.8 (¥} 18 kph 366 $HOVOB,
) R0 QB0E) Q50 dena) (g = 10 ms™2)
Options:

2 kW
1. %

3 kW
2.

3.6 kW

1 kW

Question Number : 88 Question Id : 4509386168 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A man of mass 70 kg jumps to a height of 0.8 m from the ground. then the momentum transferred

by the ground to manis (g = 10 ms™%)

70kg 284 fie) 28 955 20 DO 0.8m JRF MBS, 2 NoD) & 2588
200 @0hs (355310 N (2= 10ms™?)

Options :

280 kg ms™?
1.¢



200 ke ms ™t

%

560 kg ms™?
3. %

400 kgms™!
4, %

Question Number : 89 Question Id : 4509386169 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the earth shrinks until its radius becomes 7 of its original, now the duration of day would be

(mass unchanged)

AENTETE0 865 8O DendeS i 5065 0%, 2yt Bor Tk A

(895078 it ) B )

Options:
24 hours
24 KoLy
1. %
16 hours
16 ffotren
2



18.5 hours

18.5 ffoéyewn

Question Number : 90 Question Id : 4509386170 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A thin circular ring and a circular disc have same mass and same moment of mertia about their

centres perpendicular to the plane. Then the ratio of their radii

28 )R HITSE0 $080 HOON SYTSE DYy 2.5 (395073, anbafy e

o

SO0 00T F0|30 NGO 23 B 275D §OR 53) ). N ar¢3
TITTO Q)

=

Options :

@l - =l

B | =

Question Number : 91 Question Id : 4509386171 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
A spring with spring constant K stores 5J energy. when stretched by 25 cm. It was fixed at one end

in vertical position and the other end is attached by mass m. Its frequency is 5 oscillations/sec. Then

the values of m and K are

K 200 907050 fie) 28 1000 & 25 em APHGRYE 57450 Aer§ T F0enod.
TR 2.8 DG D0 ey |FerBER, Bocssd D38 m (39308 ey Badyed
S, 0 B Die)edzo D8R § BOTreN B0 m HOG K Densden
((DBTT)

Options :

m = 0.16 kg, K =160 Nm?
1. %

m = 16 kg, K=160 Nm™

2. ®

m = 0.16 kg, K=16Nm!
3. %

m = 16 kg, K=16Nm!
4. %

Question Number : 92 Question Id : 4509386172 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A pan with a set of weights attached with a light spring. When disturbed. the mass spring system
oscillates with a time period 0.6s. When an additional weight 1s added. the time period became

0.7s. The extension due to additional weight is

28 BO5 (D)0 QFoHoS Sosh adhen o TS @S A0S, HAN
460 103:9¢H 0T 500 0.65. 2.8 ©C30a) YD RS FODIND eIt

jur' ]

S0 0.7s S, B 2P0 IO 10N HEE (FeTtd)
Options :

2 cm
1. %

3cm
2.

4 cm

1 cm
4. %

Question Number : 93 Question Id : 4509386173 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two bodies of masses my and m, are initially at rest at infimte distance apart. They are then allowed

to move towards each other under mutual gravitational attraction. The relative velocity of approach

at a separation distance '’ between them 1s

Both Haden my HBAD m, (SS5oHen KOR ©k08 Erdod oWHNBS
&) Q. & B0 SN0 @SS (e 88 o cor 2.8 o §%63 IG5 S
G0D) A D35 DS Tt 3D 1 ErBoeS E8)29)¢h 0 G0&Nod

Options :



2G(m; — m;)

V=
r
1. %
2G(my; + m
v |260m: +m))
r
2.
- G(my; + m5)
r
3. %
V=
4. %

Question Number : 94 Question Id : 4509386174 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the ratio of lengths. radii and Youngs moduli of steel and brass wires are ‘a’, ‘b” and ‘¢’

respectively. their respective loads are in the ratio 5: 3. then corresponding ratio of increase in their

lengths would be

2O DB FBA S0 TOE) SBIO, Tirdane SO aHoh Hetoe
DB DN ST a,b HOAR ¢ €0 Gy AN, 6 HOAN 2BE 3 A T
2590 i )S 5:3 9005 D FEHS 900 A

Options :

1. %



b
5a
3bZc

2.
3ac
5h2

3. %
5¢
3ab?

4. %

Question Number : 95 Question Id : 4509386175 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A glass capillary tube with a radivs r = 0.02 cm 1s immersed into water to a depth of d = 2 cm.
To blow an air bubble out of the lower end of the tube the pressure required 1s
(Given surface tension T = 7 X 1072 Nm ™ and density of water p = 10° kem™>; acceleration
due to gravity g = 10 ms™2).
TP = 0,02 em 0 0 P2 HTDE DS d = 2 cm SHH N0VIDAESE.
& SH 9% D) 2710 0D 28 PO 20D EREHER TN e Ve,
(S0S T=7x1072Nmt; Q6 OGS p =10 kgm3;(Hed s 5620 g =
10ms?)

Options :

480 Nm ™2
1. %



900 Nm 2

2. ¢

200 Nm ™2
3. %

700 Nm™?
4, %

Question Number : 96 Question Id : 4509386176 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A vessel contams 8 g of air at 400 K. Some amount of air leaks out through the hole provided to it.

After some time, pressure is halved and temperature 1s changed to 300 K. Find the mass of the air

escaped

2.8 MBS 400K &S 5 8g © MO JoHAAND) O, & FSH &) 28

Bolian T 50° S0 0HH ST IO, §0t SNANO BTrseh BB

MRS @06 HB0% )16 300 K 5 & Sfonod. o|do o 5o 20he3

NI TP (03503

Options :

533 g

4. %



327¢g

Question Number : 97 Question Id : 4509386177 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A piston divides a closed gas cylinder mto two parts. Initially the piston is kept pressed such that

one part has pressure P and volume 5V and the other part has pressure 8P and volume V. The piston

is now left free. The new pressure if the process 15 isothermal

FONS Do Hra A AFda 2.8 dnaedsn Bod armenm

AN, 0658 snNeE 286 Sent Tahcho o5t 2.8 2P0 s P

50050 SSNBATEN 5V, HB T 22RO DI 8P DO SNBSTE0

V. 320 020800 T SO0 & H8ch STeete (8o

©90DS 58 C53u

Options :
13
P{):?p
1.
By= = 4
L
2. %
. 13
0
3. % 8
P,=—-PF



Question Number : 98 Question Id : 4509386178 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Helium gas goes through a cycle ABCDA (consisting of two

P
i
1sochoric and 1sobaric lines) as shown 1s figure. Assuming the gas B c
to be an 1deal gas. Efficiency of thus cycle is nearly. |-~ piiiii
~ V]
OO0 TANs) ABCDA W0 (D580 ( Boch D 1. . D
A ° 0
05 HBA Bodh SLrdEsTe L0 ) P
1806 P28 DGO ECHen WA, & PoP ey
o 2V,
e30565) FOMYT GaroDSS, G Vo Ty B8
SISVSINVINVEOV b
Options :
- 91%
1. %
12.5%
10.5%
3. %
15.4%
4.

Question Number : 99 Question Id : 4509386179 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A geyser uses natural gas as fuel. It heats water flowing at the rate of 3.0 litres per minute from
27°C to 77 °C. The approximate rate of consumption of the fuel. if the heat of combustion of gas
fuel is 4.0 X 104 Jg™*

5572 oI BOGSOM N To 2.8 iz AarRE 3.0 O&S [dr:rdtn E0S
D3R 27°C HOD 77°C SGK FE BV0O. AR 40 % 104 gL GPSA0 (10 deF
TS0 A0SO TG K00 DGIED; TN DedTm

Options :

3.75 g min~!

1. %

0.9 g min~!

2. %

1.5 gmin*

3. %

16 gmin™*

4.+

Question Number : 100 Question Id : 4509386180 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

One kilogram of a diatomic gas is at a pressure of 2 X 10* Nm™2. The density of the gas is

4 kg m™3. The internal energy of this gas:

2,8 85T B30T oS T0E) NS0 2X 104 Nm 2 Jro|ieh 4kgm™3

@O0 TR @0 0eFS Denod

Options :

1.25 X 10*]
1.¢



2.4 % 104

2.

2.8 x 10%]
3. %

1.25 x 10°]
4, %

Question Number : 101 Question Id : 4509386181 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A train moves towards a stationary observer with speed 72 ms™*. The train blows hom and its

frequency heard by observer is fi. If the train speed is reduced to 36 ms™*. The frequency heard
by observer is f;. Theni—:is (v=340ms™)

72ms™ M08 28 (DR 00 H0905Q i) Send) 8. (B0
ST, HBFOBINE DS BreSsyedsed f. | B S 36 ms™ § oy,

HBIOHE D) Tedeyndsein £, @ona_%;—i (v=340ms™)

Options :

£53
1. #

1.43
2. %

1.13
3.v



1.23

Question Number : 102 Question Id : 4509386182 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The following statement 1s true n case of total internal reflection?

DOFT0HS DTGB DODOHOD. DBAND FE50
Options :

Light must travel from rarer medium to denser medium & angle of incidence should

be greater than critical angle

508 OPHY OIFI50 OGO AIraTRS (W80T HBAM
5035°69:30 OO 5231 S0T) DFI)e) GOTE)

Light must travel from denser medium to rarer medium & angle of incidence should

be less than critical angle

52063 aro|CIedd OSPS80 oG DYY 0Srd50 B Db DB
D580 0O Eeaed S0 550} 0) GO

Light must travel from denser medium to rarer medium & angle of meidence should

be > 90°
52063 DBY OS50 DO APO|ESE OIrSE08) |NB0TTE) BN

Je535 030 > 90° &OTe)

4.+



Light must travel from denser medium to rarer medium & angle of mcidence should

be greater than critical angle

5203 APO[C)ehS AIPHE0 DO DY ATPOE0 (DO, 65098 el
DoAY §eas50 0T D8)) GO

Question Number : 103 Question Id : 4509386183 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Young double slit arrangement 1s placed in a liquid medium of 1.2 refractive index. Distance
between the slits and screen is 2.4 m. Slit separation is | min. The wavelength of mcident light is

5893 A. Then the fringe width is

aH0f 208 DO (AT 1.2 82583 HELo o 2.8 (3 rE0S Tw)en
DODAGR0. DOZOR BB DS QTG0 2.4 m. Toch OZO D53 (TGO | mm.
5893 A eborf F50 o) S0 & NP0 GaarRodT 58 Fcsen)

Options:

1.17 mm
1.¢
2.27 mm

1.27 mm

1.5 mun



Question Number : 104 Question Id : 4509386184 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

As shown in the figure. a surface encloses an electric dipole with charge +6 X 107 C. The total

electric flux through the closed surface 1s

HRENS WPDD DSV 6 X 1076 C &5Ten §0 DS 665950 HEF 28

00 Sa))B0 0NN, 0NN & SO0 T §T° FNEA0 DS SEaTarall) e

Options :

412 x 1078 Nm2Cc™1

1. %
—12 x 107® Nm2C1
Zero
COITTE
3. ¥ L
+6 X 107° Nm?C?!
4. #

Question Number : 105 Question Id : 4509386185 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 200 volt battery 1s connected across the series combination of two capacitors 4 pF and 6 yF. The

amount of energy stored in this series combination 1s

4 F 0005 6 F Densien EONS Boch St en 3 Senda b, 200 Varst 68
SonaaBt). ©ond & (36 SodriosS JensTobhats 4§ e

Options :

38 X 1072 ]

48 x 1072 ]
3.8x107%]

48 x1077]
4.

Question Number : 106 Question Id : 4509386186 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two separated conducting spheres s; and s, of radii % R and % having 15 pC and —3 pC charges

respectively are at a large distance, They are now connected by a conducting wire. After a long

time, the charges on s, and s, respectively are
3 R y
ZR B0 : TN O Trer QPG G 5, DO0 5, TO Fars

fren 15 uC OO —3uC esafren 0N o). & BoAEd 28 &f i

§D), TPer 00 e, 83 axFe) ST

Options :



2 ui, 10 uC

1. %
4 nuC, 8 uC
2 %®
6 uC, 6 pC
3 % = H
9 uC, 3 nC
4.

Question Number : 107 Question Id : 4509386187 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the potential difference across P,Q is 4V, the potential difference across A and B in the given

figure is

A0S P,Q ) D35 FOVDS B0 4V 00 A, B © dichs FOAHS B0

0
A M :
P
~ \J) \:\.
6 & gse < 30
s 308
I 1 ]
J [ ¢
g :} 4V
e o
{' b
B M L
30
Options :
1 % 8V



18V

W

12V
3., %

16V
4. %

Question Number : 108 Question Id : 4509386188 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In the given circuit, batteries are ideal and Galvanometer shows zero deflection. then the value of

R'is

395088 S000S arshbon Bi6DS DAk Tos DHhb g

935030 D 'R Densd

3000 -
J_ VWY T \7_“
12V mm G

A

Options:

60 0
1.9

120 Q

100 0



75 Q

Question Number : 109 Question Id : 4509386189 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A very long straight conductor 1s carrying a steady current of 2.2 A. The conductor 15 placed on a

horizontal table such that the current in the conductor is from south to north. If the horizontal

component of the earth’s magnetic field at the place is 3.2 X 107° T, the force per unit length on

the conductor is

2,8 OBIETS B TeTE0 224 O DCNES (DFFD) BNTD HFehes) &
DS (DFT BF G0 ok GBTNE oD SO, ISR 28 S
JSF0BE DO GO, 8 (DBF0 N Areoharyoe §8z NSrosd @odo

32X 107 T, @00 D508 e TaPE03 DB N DOO
Options :

7.04x 107> T

Zero

352 % 102 T

1408 X 107> T



Question Number : 110 Question Id : 4509386190 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A wire of length 100 cm 1s bent i the form of a circular cotl of 5 turns and another wire of length

60 cm 1s bent in the form another circular coil of 4 tumns. If same current flows through the two

coils. then the ratio of the magnetic fields induced at the centres of the two coils 1s

100 cm &Ched 10 28 11 5 XD ey ST AT HBAM 60 cm kY 110>
T8 S 4 DL 10 SHTFE HEMH Jodadiron. Joh o HHed'
DTS A0S (DeSerotvthsy, Bod B Dty SoTe SO (DS

oF
9ODL08 T (F0 D)

Options :

20: 21
1. %

5:6
2. %

15: 16
4% 3:4

Question Number : 111 Question Id : 4509386191 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle of dip at a place where the vertical and horizontal components of earth’s magnetic field

become equal 1s

Areadar,06 S (¢ § 82 ©02) Bk § 82 T 07N Nrdda; 28

DBH0 IO BITHE R0



Options :

30°
1. %

45°
2.¥

60°
3. %

90°
4. %

Question Number : 112 Question Id : 4509386192 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A pair of adjacent coils has a mutual inductance of 80 mH. If the current in one coil changes from

10 Ato 25 A a time of 1.5 5. the change of flux linked with the other coil

W, W of T ¥ s W o a

SENES G5) 08 26 o 8 oSt |D0B0 0mH. 28 HQS AhsS

W 6 2 ; s B S

Da%T0 10AD0G 254 § 155 TO0S aTrOL00NS, B0ck) edff D) 2T

2058508 ST srtd)

Options :
0.6 Wb
1. %
5 % 1.8 Wh
1.2 Whb

3.v



0.8 Wb

Question Number : 113 Question Id : 4509386193 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
A resistor of resistance R. an mductor of inductive reactance 2R and a capacitor of capacitive

reactance 3R are connected in series to an ac source. The power factor of the series LCR circuit is

B0 R e 2.8 ABE0, WE8Ss BOG0 2R o) 28 (D880 HOAH 86

DBHG0 3R (10 2.8 5arR0 FES 2.8 ac 23508 Soatiaron. LCR 363 doaho
a3g), rands 5880

Options :

| =

@l

2. %

1

V2
3. %

i 2

2
4. ®

Question Number : 114 Question Id : 4509386194 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The refractive index of medium is 1.8 and its relative permeability is 2.16. The relative permittivity

of the medium 1s (nearly)
2,8 QSPad8a) 8230 10ea%0 1.8 O TR . O;HDDE 2.16. Alrd30
B0%) a8, DIEINE (aSrdm)

Options:

1@ 1.5

1.6

1.4

17

Question Number : 115 Question Id : 4509386195 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The work function of a photosensitive metal surface is 6.4 X 10™** ]. The maximum kinetic energy

of the emitted photoelectrons when electromagnetic radiation of wavelength 1240 A incidents on

the metal surface 1s nearly

2,8 P65 8 s 'aT) S0 D [HD0D0 64 X 1072, 537 003 1240 4
ot B30 80 2.8 DESOHTL0 NEGEI0 HBITIY I GTHHA &
DT 18a) (fe338 olrdr

&
5

Options :

1.



5 eV

#®
5 6eV
3 eV
3 %
4 eV
4, #

Question Number : 116 Question Id : 4509386196 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
If the angular momentum of an electron in the second orbit of hydrogen atom 1s J. then the angular

momentui of an electron in the third excited state of hydrogen atom is

TEBS H3TEN SR BockS 85550 2.8 JOFR S (SN0 T eond

TEES DBXPen) Orch &8 TSR a§ JOTS Fedoh (3550

Options :

217
1.4

L]
—

4]

61



Question Number : 117 Question Id : 4509386197 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The energy released in the fission of one U™ nucleus is 200 Mev. The energy released in the

fission of 235 g mass of U™ is nearly

U G0, 2.8 T0(¢3%0 D 28RS Debise eone #8200 Mev. (335073

235 ¢ (10 U DD S0 Achde b 48 Qurdr

'.',J b
Options :

15.84 = 10127

1. %

1927 % 10121
2.

13.59 x 10127
3, %

17.73 x 10127
4. ®

Question Number : 118 Question Id : 4509386198 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The voltage gain of a common emutter amplifier 1s 60. If the output and mput resistances are

4 kQ and 2 k() respectively. the power gain of the amplifier 1s

28 Gl &I S080 ST 90 60. AV HOH IS ey SEIT
4k0 805 2 kO @00, HP50 TINF, Qg 9B



Options :

30

1800

Question Number : 119 Question Id : 4509386199 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Three logic gates are connected as shown in the figure. If the mputs are A=1,B =0and € =0

Then the values of y;, y, and y, respectively are

S S8, e HH0S DS GO LOdNET. IITEN A=1,8 =
00805 € = 0 0NN 4, ¥3 NGO Y3 DENEN SR

Options :

1,0,0
1.
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2. %

i 355 |
3, %

0,0,1
4, %

Question Number : 120 Question Id : 4509386200 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

For an amplitude modulated wave, the maximum and minimum amplitudes are respectively

16 Vand 4 V. The modulation index 1s
B0 HODS SPeTAR TOBS SB0M0 K052 HBAN S §0N HBSHEN

ST 16 Ve B05) 4V, €900 o585 )
Options :

0.3
1. ®

0.25

0.6

0.5



Chemistry

Section Id : 450938134
Section Number : 4
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Maximum Instruction Time: 0
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Question Number : 121 Question Id : 4509386201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not the correct order regarding the energy of orbitals?

C'\“S' i W {» i w g
1806 7S ©38)Er¢) 48 OO & HBT (Eadad 5S¢

Options :

Ep < 35
1. #

ip=4s
2. %

3d<4p
3. %

4d < 5s



Question Number : 122 Question Id : 4509386202 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
What is the radius of second Bohr orbit of He™ ion?

He™ e905°S B0 50 8 5 o7sardo Doeh?

Options :

158.7 pm
1. #

105.8 pm
2.

52.9 pm
3, #

211.6 pm

Question Number : 123 Question Id : 4509386203 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Match the following 1508 e 2T
List] ListI O DI
Element First lonization STFO5D | TG OBFZEAD
enthalpy (in kJ mol ™) o @D(E_‘);I (K ol
A Be [ 801 Al Be I 301
2 0 ! Y B| 0 | I 399
=) ¥ = 4k ¢l N | m 1314
D B IV 1402 D B IV 1402




Options :

A-1 B-1V C-1I D-II
1. %

A-1II B-1IV C~1H D-1
2. %

A-1II 3 -1l C-IV D-I
3.¢

A-1 B -1II C-IV D-II
4. %

Question Number : 124 Question Id : 4509386204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the sets containing isostructural molecules

eNVT®IED BIEWYCNAY) e ad H8otsod

1. SiF4., CCl4

1. NF3. XeO;

i1, BeCl,. HegCly

1v. SF4. XeF4

Options :
1. ii. 111 only

i, 1. i ST°[Ha0

1. %



ii. 111 only

ii, 1ii o075

1. 111, iv only

1, iii. iv o30° €5 o3

i1, 1v only

ii, iv o307 €530

Question Number : 125 Question Id : 4509386205 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following orders are correct regarding their covalent bond character?
DDTFBRAD 06 D §27H0 (G0 806 15570 BTSN d?
L. KF < KI
1. SnCl < SnCly
.  NaCl < CuCl

Options :

1. 11, 111
1.¢

1. 111 only

i, ifi o30°|EHa)

3. %



1. 11 only

i, i o307 B30

Question Number : 126 Question Id : 4509386206 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T(K). for one mole of an ideal gas, P. V and ums were measured. A graph of (ums)? (on y-axis)

and PV (on x-axis) gave a straight line passing through origin, Its slope 1s “m”. What is its molar

mass (in kg mol™)?

T(K) 58, 2.8 IO 680180, BV adBO5D s ) SOTD. (ums)? (-3 02)

B0 PV (x-98 03)) © DES (TR, S0re) Doda) (Hom HoHA0TH ASFDDD

3008, T e “m”. TR Irerd ((9a50°3 (ke mol ©F) J0eh?

Options :
Im
1. %
1
am
2. %
m
3. % 3

4.



Question Number : 127 Question Id : 4509386207 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
%' em? of CHy gas diffused through a porous membrane in 25 min. Under same conditions ‘" em?

of another gas of molar mass 64 g mol™ diffused in 20 min. The ratio of x and y is
Y et © CHy 7OM&) 25 min ©F 2,8 ML aFd HOG TS0 ToHOD. ©F
SRS Irerd 55509 64 g mol™ (1© 9" em?® © DTS KDY 20 min o)

T5090 TOH0H. 1 HOAM ¥ © DS

Options :

Question Number : 128 Question Id : 4509386208 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reaction

H,0(s) + Fi(g) - HF(g) + HOEFE(g)
In this reaction

18O 585D HBBDOTRSD

H,0(s) + Falg) » HF(g) + HOF(g)

& 58S

Options :

Hydrogen is reduced and tluorine is oxidized

B2 8N ToA0H HBAW FES 385660 TOHOH

Oxvgen 1s reduced and fluorine is oxidized

38123 § 098560 TOHOS HBAM FFES 383880 ToBOS

Oxvgen 1s oxidized and fluorine 1s reduced

258 1230 38800 TOHOO HOTN F*BR 5 0HEB0 TOHOH

Hydrogen is oxidized and fluorine is reduced

L B2 8818620 TOOOO HOON S § ahEdo Tohod

Question Number : 129 Question Id : 4509386209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Statement-I: A U can be measured by bomb calorimeter

Statement-II: Heat is not transferred from calorimeter to surroundings

The correct answer 1s

1508 BOCH P EDIEN Qo) SRTTOW
TS5 —T: 202 S ONEID HIHTBPAOD AU Q §a365TH )

T35 — 1L SS B H0G DOIT'OH a0 2EHO) TOKEH

HBTS DTS SD

Options :

1.4

Question Number : 130 Question Id : 4509386210 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Both Statement-I and Statement-II are correct

755 — T oNBON a5 s — I BO S8

Both Statement-I and Statement-II are not correct

505 — 10O 5§ — I TOCH® OBQD 5%

Statement-I 1s correct but Statement-II 1s not correct

508 — T OBTDIE 5% 5 — I BT 5°¢H

Statement-I 1s not correct but Statement-II 1s correct

55 — I DDA 596N 5% 5 — I SBTDE

Time:0



At 300 K. A,Gfor the reaction
2AX3(g) + BO,(g) =———o— (AX,);BO(aq) + X,0())is -15 kJ mol’

What is the value of log K for the reaction at the same temperature? (R =8.3 J K™ mol™)
300K 5 1808 58550 4,68 Densd ~15 kI mol ™!

ZAXﬂg) + B(‘}Z(g) : (AXE)QBO(E*([} + X_ZO(D

@B tsF(1568 SO 550 log K DEsd 0ed? (R =83 JK! mol)

Options :

Question Number : 131 Question Id : 4509386211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One mole of compound AB reacts with one mole of compound CD according to the equation

AB +CD =AD + CB
3
At equilibrium it was found thatz mole of AB and CD had been converted to AD and CB. There

15 no change in volume, The equilibrium constant for the reaction 15

2.8 TS AB Se)$30 2.8 O €D dapgio & 1808 Aeorr s 26200
AB + CD =AD + (B

W, =] o 3 ¥ o ; v
DT 26 - S0€%) AB, CD &) AD, (B ™ Srh)BodSEY Hdowrd.

DSHBITEI0S e B, B By, Delrer S Vo080

Options :
9
16
1. %
1
2. ® 3
16
9
3. %
9
4.+

Question Number : 132 Question Id : 4509386212 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is the conjugate base of OH™ ?

OH~ G308 00NN 5280 DE?

Options :

Question Number : 133 Question Id : 4509386213 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The lattice of MH»j 55 1s different from the Lattice of M. What 15 M?

MHs 55 252830, M 27850 02 80 O 0N 0E. M DE?

Options :



Ce

Question Number : 134 Question Id : 4509386214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The bicarbonate of which alkali metal does not exist as a solid?

D SBS 570 By BSTITE NS VS’ 0cscH?

Options :

Question Number : 135 Question Id : 4509386215 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the following unbalanced reaction
BE; + LiAlH, — 'X' + LiF + AlF;

The mcorrect statement about 'X' 1s

1505 €505 IS5 DBHEFOTNS0
BE; + LiAlH, — 'X' + LiF + AlF;

X' 50 DODOH0D) 85 5D
Options :

It is an electron deficient hydride

A0 DOFD AF5eh (o 2.8 TP B&

1. %

It has a B-B bond

- A 0HOD 2.8 B-B 250850 &000H

This on heating with anunonia gives borazine

. B FR0SE AT SEES & N0

On hydrolysis it gives a weak monobasic acid

8O DBAS O 2.8 DOETPS DES O 3D BNOE
4.

Question Number : 136 Question Id : 4509386216 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Statement —I:  Carbon has highest catenation power in group 14 elements

Statement — IT: Carbon has small size and high electronegativity compared to other elements of
group 14.

Correct answer is
18065 BOch T 55EN Bed S22 00a)
5205~ I: 1465 |15 Sresed 57638 S 40 DA Ao Gotnod.
5205~ II: 1465 |17 SIPOTOS, Difer a0 56 % 9019057600
B0 S 206 a)Ch5Tred 56 GOLFO.
QO AT
Options :

Both Statement-I and Statement-II are correct

P 108050 arsaps — I Oy Q80D
1.

Both Statement-I and Statement-II are not correct

5§ — 1 0B0M 5§ — I BOAY QO 5°)

2. %
Statement-I 1s correct but Statement-II 1s not correct
L, 55— 10T 5% o3°5208 — IT HBTDDE 5°¢H
3.
Statement-I 1s not correct but Statement-II is correct
L TED- 10O 5% PSS — I OBTDAIE
4,

Question Number : 137 Question Id : 4509386217 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which one of the following pairs of gases does not represent the green house gases?

806 OO BSOS DB IAS TR FOMWYOD ArDOTIE?
Options :

CH4. N20
1. %

CECs, O3

O3. CO»

N2, CO

Question Number : 138 Question Id : 4509386218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Kjeldahl's method of estimation of nitrogen, the ammonia evolved from 0.2 g of an organic

compound was absorbed in 60 mL of 0.1 M HySOq4. If 40 mL of 0.1 M NaOH is required for

complete neutralisation of the unused acid. the percentage of nitrogen in the compound 1s

2erS HGBS B B AJonotEod 02 g © DOBH S0 Hod
300560 &R 60 mL 0.1 MES0:&S F20t050H08. DGO T &eir))
O S6NE60EE 40 mL © 0.1 M NaOH @95 S e5S, &8 s pgioss 31528

o

790
Options :

1. %



14

Question Number : 139 Question Id : 4509386219 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 15 the percentage of carbon in the compound X. formed in the given sequence of reactions?

(i) Al KOH. A H,0
CH—CH—CHfi ——— 3 A —» X
(ii) NaNH, e 1
Br K

1800 [ESmB50S )G SFS0 X & 5610 TH0 Hok?

(i) esexar*€)5 KOH, A H,0
CH;——CH—CHBr » A— X
(1].) NRNHQ ng_ H+
Br 333K

Options :

31



2. ¢

3 % 91
51

4. %

Question Number : 140 Question Id : 4509386220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
X-ray diffraction studies show that a metal M’ crystallises m an fee uniteell with edge length of
400 pm. If the density of the metal is 7.5 x 10° kg m™. the number of unitcells present in 0.015 kg
of it 1
X-8860) D8 9saNS0 19560 M @ 2.8 §ar0 fee AANE IS T,
90t §¢hay 400 pm & 2363885800 Toheod. Sero aP0(365 7.5 x 10° kg m™?

o & a _ W,
@O, 0.015 kg S'aT0 S GOT CHFE VO © 03
Options :

6.6 x 105



Question Number : 141 Question Id : 4509386221 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At 298 K. the density of an aqueous solution containing 82 g of acetic acid per dm? is

1.01 kg dm™, If the molarity of the solution is x” M, the molality (m) of the same solution is

(molar mass of acetic acid = 60 g mol™)

208 K 5¢ 1 dm} 20000 S 82 g © S 8290 &) R ro|dé

1.01 kg dm™. & |90 FrerBed ' M esone ©F ((rs60 Srerdd (m)

(DRESE 80 Frerd |Dais0d =60 g mol™)

Options :

(1.856 x) m

1.
(0.999 x) m
2. %
3 o
- (0.928 x) m
(1.077 x) m
4. ¥

Question Number : 142 Question Id : 4509386222 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



1 g of benzoic acid (molar mass = 122 g mol™) is dissolved in 50 g of benzene, Its freezing point
was found to be 277.82 K. What 1s the value of *x"?

(Given: K of benzene =5.1 K kg mol™?, freezing point of benzene = 278.45 K and Van't Hoff's
tactor of benzoic acid = 0.5)

12 B0E 008 80 (Frerd (3508 = 122 gmol ™) 50 g BoAS &S $BRotsd0d.
B NBISTH0 27782 K. 1 DOV 087

(@D)50: B2 D Ke DN = 5.1 K ke mol™, Z0BS s0B300 = 27845 K and

BoSTows 00 ) a0t 7 Heas0=0.5)
Options :

- 0.5

.i
5 | %

1.0

Question Number : 143 Question Id : 4509386223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A,GO of a cell reaction is ~301 kI mol ™. What is its E® in volts? (F = 96500 C mol™). (n=2)

2,8 396 D655 A,GO Densd 301 kI mol™. c7Q) EO Densd SO e3¢5 0eh?

(F=96500 C mol™). (n=2)

Options :

2.56
1. %



2. %

1.20
3. %

1.56
4.

Question Number : 144 Question Id : 4509386224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The rate constant of a first order reaction at 400 and 500 K is respectively 2107 st and 4110757,

What is the approximate activation energy (in k] mol™)? (R =8.3 Tmol' K log 2=0.3)

28 TG (8308 05 D& VT80 400 DO 500 K € 56 ST 2x10%

58050 4x1035T &g 48 & mol! ©F) DTOT Joes?

(R=83TmolTK™: log2=03)

Options :

880
1. %

4. %



Question Number : 145 Question Id : 4509386225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the correct statements from the following
. At constant pressure. physical adsorption decreases with mcrease in temperature
II.  Enthalpy of physisorption is higher than enthalpy of chemisorption

III.  Gasmask used in coal mines consists of activated charcoal

808 8BS DTS 550 HBotiok

=)

L D50 38, &iied 2BAS T b Faf @b nemo b

L 8% 0058 Jomrd), Sarahed @858 Jod) §0T 80
I S HHOS GHBFHo i S0 &B2I80S ST G0tnod

Options:
I, I, IIT
1. %
L. IT only

I II o377 €5 530

I. IIT only
I, I 555765330

3. ¢
II. III only

IL III 337 eh a0

Question Number : 146 Question Id : 4509386226 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Which of the following 1s useful to verify the charge on colloidal particles?
1806 73S DO, SEToNGS Sere (0 8370) ATVoTHHH
G0 O3 CEN 06

Options :

Electrophoresis

o DDTTHIS Seathd0

Gold number

O Soms
2.

Brownian motion

25RO TIHN

Bredig’s Arc experiment

(20 €30 B3 a3

Question Number : 147 Question Id : 4509386227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



From the following identify pairs in which metal is correctly matched with its refining process

A In Distillation

B. Sn Liquation

g Ga Zone refining

D. Zr Vapour phase refining

18080 FES §570 TR TON NEADS N6 236 TGS B0t HBoHOR

A In | Q3880
B. S| (108 50690
& Ga | 0ode §¢do
D. It | e ey §85a30
Options :
A.B. C only
. ABC T35
B. D only
, « BD NV
A.C.D only
A.C.D SedaD
3. %
A.B.C.D
4.

Question Number : 148 Question Id : 4509386228 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X and Y respectively in the following reactions?

1BOE TH35636S° X 0B Y €0 ST ? (dilute = DOS)
Cu + HNO3 (dilute) — Cu (NO3) + HhO + X

Zn + HNO;3 (dilute) — Zn (NO3) + HDO +Y

(Note: Equations are not balanced)

((560DE: HWESETEN 150 DODHBTICD)
Options :

NO. N2O
1.4

NO. NO2

NOz2, N20O

MNYO. NO»

Question Number : 149 Question Id : 4509386229 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following reducing agents liberates hydrogen from dilute acid?

1808 § 09868 SEFS AOD 800 DA IMERS & Achde Tomse 287

Options :

2+
Mn-~
1. %



“¥

Fe-"

{:11.2+
3. %

C 02+

Question Number : 150 Question Id : 4509386230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The sum of coordination number and oxidation number of the metal M m the complex

[M (en),(C,04)] Clis

(en = ethylenediamine)

M (en), (C,0)] € 5030 & S'eP0 M TBNEY eDed 605 03 SO &858

N0 Fno:

(en= T:Q@P&):S @@gbni)

Options:

1. % 8
6

2. %

3. % 7
9



Question Number : 151 Question Id : 4509386231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is vulcanised rubber?

BO® a7¢3eT DO ST Se3)6?
Options :

cl
H~C=C—CH,

n

{:MH_*;

e CH— ¢ =CH—CH; «»wvowe

S

o CH— CH= .[:'H—(:'H2 LU
2. ¥

CH,

Na¥ava¥y Hz[‘—C =(CH—CH, vwwvw

"
CH,—CH=CH—CH,—CH,—CH

Question Number : 152 Question Id : 4509386232 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Identity the anomers from the following.

808 78S AS00 0% Hhotiod.

CH,0H CH,0H
HA  QH HO /9 ¢
H H
. HO _OH ) OH - H o OH
H OH H OH

HOH,C 0 H
b H Ho
c D CH,0H
HO g
Options :
A B
1. %
B.D
2. %
A C
3.¢¥
£10)
4. ®

Question Number : 153 Question Id : 4509386233 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which of the following are present 1 DNA?
808 3¢5 AN DNA S &) 0.

NH;
Ny
* ‘L /L\ ? | i
N 0
f N
) 0
HOH,C o OH NH;
H H N
. Ny
OH OH N A
H N
Options:
A.D
1.9
A.C.D
2. %
B. L
3. %
B.C. D
4. %

Question Number : 154 Question Id : 4509386234 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Two statements are given below
I.  Shaving soaps contain sodium carbonate
II. Laundry soaps contain sodium rosinate

The correct answer 1s
1508 BOCD 7 5EN QA §22C0eI8)
L 20 S20)odS SFAOHO 58I S0Nod
1. ot Han)oeS FAoHo 82T Sotnod
QB Boew
Options:

Statement I. IT both are correct

SPSEEN L I BOCH® S8

Statement I. IT both are incorrect

5N L I BOCH® DO 5%

Statement I 1s correct but statement II 1s mcorrect

Statement I 1s incorrect but statement II 1s correct

755 T OOADAE 571 57 75 T OEADOE
4.

Question Number : 155 Question Id : 4509386235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following are ambident nucleophiles?

A CN B. CH,C00™  C. NO; D. CH;00 E NH
8060 €3¢ 80T SSRGS e A7

A CN- B. CH,C00C  C. NO; D. CH,0© E NH,
Options :

A. B. C only

A. C only
2.

D. E only

C.D. E only

Question Number : 156 Question Id : 4509386236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Observe the following reactions

B8O B85 HBPBDOHOG
OH

: P/I,
N,™X

II. L

Correct answer 1s
QODDA DI TT eI
Options :

L. IT both are feasible
I II BOCE® PG 5e0(Dedd

L. II both are not feasible

I II BOCET® DPGI5000) 5%

I is feasible but not IT

I eJPCI5000) 50 I PG 5000 5°C0

I is not feasible but II 1s feasible

4 I °CH5000) 52D 5o IT PGS0



Question Number : 157 Question Id : 4509386237 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct sequence of enzymes involved mn commercial production of ethanol by fermentation

from sugar is
050 07) 56 550D (fermentation) T §O° lAIN) 2TO[T0S €oed; & & TSR

200D © T I
Options :
Invertase. Zymase

25505, BadeS
1.¢

Zymase, invertase

B8, 25588

2. %
Maltase. Zymase
. SRS, BoeS
Zymase. Maltase
B, Sl
4. %

Question Number : 158 Question Id : 4509386238 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Aketone ‘X" gives CHI3 when reacted with NaOI. Product of X on reaction with NaBH; followed
by treatment with HyO 1s

2,8 8650 X o NaOI & 5653 2899:)ch CHE Q 20,08, X & NaBHs, & 50 365 Hh0
B65S DT &390 O

Options :

CsHsCH>2CH>CH2OH
1. %

C¢H-CHCH,CH,
I
OH

C¢H:CH,CHCH;

3 ¢ OH

CsHsCH2CH2CHs3
4, %

Question Number : 159 Question Id : 4509386239 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What are X and Y respectively in the following reactions?

CH; CHO
m X == ‘ Nitration 2
o

Mxﬁx‘\/—/
B0 B58506¢T X 208D Y €0 SHSEOT DD?

CH; CHO
/ X ,,-"’;H\‘ o LA
‘ J/ i | i sl o - -‘f
2
= o




Options :

CHO
e
KMnO, | OH |
R
b,
ko,
CHO
(1) CrOsCly, (i) H;O"
NO,
2. %
CHO
(1) CrO,Cl,, (1) H;O™ ;
o,N
3. %
CHO
EMnQ, | OH
0,N
4, %

Question Number : 160 Question Id : 4509386240 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What are X and Y respectively in the following set of reactions?

1BOA BB HAMBS X NSO Y €0 ST ID?

F N,BE,
D=0 —=
=
Options :
- NaNO32 | Cu. A ; NaF. A

NaNO2 | Cu. A; A

2.
NalNO2 | A ; A
3. %
NaNO2 | A; NaF. A

4. %



